
SONAR FABRIC OTTOMAN BED FRAME

Page 1 of 5

30' 2



①Headboard-1PC ②Footboard-1PC ③Sideboard-2PCS ④Middle Bar-1PC

⑤Supporting Legs-2PCS ⑥Double Caps-12PCS ⑦Single Caps-24PCS ⑧Storage Slats-24PCS

⑨Black non-woven fabric-1PC ⑩Metal Trapezium-2PCS ⑪Metal Trapezium-4PCS ⑫Metal bar for metal frame-2PCS

⑬Metal bar for metal frame-2PCS

A  x16
M8x30mm Bolt

B  x4
Screw

C  x30
M8x40mm Bolt

D  x30
M8 Nut

E  x16
Spring Washer

F  x16
Flat Washer

K  x4
Plastic Connector 

L  x4
Plastic Legs,2cm

G  x1
Allen Key

H  x1
Spanner

I  x1
Mattress Stopper

J  x1
Belt

Page 2 of 5



J  x1
Belt

K  x4
Plastic Connector 

Page 3 of 5

C  x4
M8x40mm Bolt

D  x4
M8 Nut

G  x1
Allen Key

H  x1
Spanner

C  x20
M8x40mm Bolt

D  x20
M8 Nut

G  x1
Allen Key

H  x1
Spanner

⑤

⑤

④
C

D
H

G

D
H

G
C

J

K

C

D

G

11

12

13



I  x1
Mattress Stopper

Page 4 of 5

C  x6
M8x40mm Bolt

D  x6
M8 Nut

G  x1
Allen Key

H  x1
Spanner

B

G
A

F

F

E

E

③

G
A

10

②

L

①

I

⑨

G
C

D
H

A  x16
M8x30mm Bolt

B  x4
Screw

E  x16
Spring Washer

F  x16
Flat Washer

L  x4
Plastic Legs,2cm

G  x1
Allen Key



Page 5 of 5

⑥
⑧

⑧

⑧
⑦

12x


